
P = 4572[180"]

S = 4572[180"]

H = 2993[117.83"]

P
S

H

3D VIEW

4544 [178.90"]

21*200=4200 [165.35"]

4572 [180.00"]

4272 [168.19"]

29
93

 [1
17

.8
3"

]

171.5 [6.75"]
172.5 [6.79"]

27
43

 [1
07

.9
9"

]

TOP VIEW

45
44

 [1
78

.9
0"

]

45
72

 [1
80

.0
0"

]

4712 [185.51"]

47
12

[1
85

.5
1"

]

A

A

A

A

LATERAL  VIEW 2

42
72

 [1
68

.1
9"

]
2"X10"X0.08"
ALUM BEAM
6063 T6

6"X6"X0.105"
ALUM POST
6063 T6

LATERAL  VIEW 1

pergola motorpower supply AC110V, 3AMPoutlet



POST CAP

CORNER CONNECTOR

ALUM. BEAMALUM. BEAM

[6] M6 SS304 SCREW
SCREW [3] PER BEAM SIDE

ALUM. POST

ALUM. GUTTERALUM. GUTTER

BEAM-POST CONNECTION
SECTION A-A

LOUVER BEAM REINF. DETAIL

ALUM. BEAM 2"X10"X0.070"

M6 SS304 SCREW

M6 SS304 SCREW

M6 SS304 SCREW

ALUM. FLAT BAR 5/8"



ALUM POST

(6) 3/8" HILTI HIT-HY200 + HAS R
304/316 ANCHOR WITH 4.75" MIN

EMBED INTO CONCRETE FOOTING
WITH 6" MIN EDGE DISTANCE

6 
11

/1
6"

6 11/16"

M4 SS304 SCREW

M8 SS304 SCREW



6 light strips in total

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22

Gutter Beam Column

220 [8.661]

45
 [1

.7
71

]

220 [8.661]

45
 [1

.7
71

]

 Blade

150 [5.91]

15
0 

[5
.9

1]

25
0 

 [9
.8

42
]

65  [2.559]

   Blade Footing Plate

115 [4.527]

65
  [

2.
55

9]

EXTRUSIONS

ALL EXTRUSIONS ALUMINUM 6063 T5

[8.661]220

[8
.6

61
]

22
0

[0
.9

84
]

25
[6

.6
93

]
17

0

[0.984]
25

[6.693]
170

3-
[0.551]

∅


